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AN SEUF M
M HER2GFU(BEAA)
Crel: D= AU (BE0R D) (S &2)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
01 = LH 4 bl 2,880 4,800 A 1,920
O Jle 2UHdA 2,880,000& 2,880
Jledul(Xxd) 8,784 12,912 AN4,128
201 LBt 5,184 6,912 N1,728
01 At 22l 5,184 6,912 A1,728
O XNEE HRFA 5l 5,184,000 5,184
202 04l 3,600 6,000 A 2,400
01 = LHA YI 3,600 6,000 A 2,400
O Jle 2UWdl 3,600,000& 3,600
gyl (rsdaelg) 9,461 10,512 A 1,051
201 LB-2dH| 6,221 6,912 A 691
01 At 2t 2l 6,221 6,912 A 691
O fst2el8 RFA =4l 6,221,000 6,221
202 oddl 3,240 3,600 A 360
01 = LH o4 1l 3,240 3,600 A 360
O JI2 eI 3,240,000 3,240
JI2ZH(XIETHEZALE) 11,136 9,984 1,152
201 Let24dH] 6,336 5,184 1,152
01 At 2teltl 6,336 5,184 1,152
O NETHEAE HRF=& =&Hl 6,336,000& 6,336
202 O4dl 4,800 4,800 0
01 = LH 4 Hi 4,800 4,800 0
O Jlg 2UWdAbl 4,800,000& 4,800
Jl2dul(BsSUsEE XY TFE) 5,544 7,056 21,512
201 L2l 2,304 3,456 N 1,152
01 At 22l 2,304 3,456 21,152
O REMSEIYTFY ALEF 2|
2,304,000& 2,304
202 o4dl 3,240 3,600 A 360
01 = LH o4 1l 3,240 3,600 A 360
O JIg 2HHI 3,240,000 3,240
S.H HY2IZH(SEAADL) 28,840 28,840 0
S.%9 J23(SEUJ ) 28,840 28,840 0
.0 J2Z3u(sEU ) 28,840 28,840 0
201 L2l 28,840 28,840 0
01 At 22l 28,840 28,840 0
O sggs) 228 22
30,0003 142 B +128 5,040
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